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A variable force F (measured in dyne) acts | dwlis) 49 83z 558 &3 13)

on a particle such that S e S (2L
F =4s® —2s + 1, then the work done by | sl gy + S yv-"Gg =9
this force in the interval from s=0 cm to oo 82l 85 sdll oda e J gl
s=3cm equals ....... erg :

eI P S

® ® ® 7 “ @ MO
® @ F O @
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b

If a body of mass 200 g™ . moves with A8y AR aks’ (- Hya 13
velocity v = 60t — 80j such that ! and S Tl TA -1 =
J are two perpendicular unit vectors and 500 e ohhalace Bl g

the magnitude of the velocity is measured AL )
in cm/sec. , then the kinetic energy of this 7 B OB S/ By (e
body equals .......... joule. Jgo e S5\l el |

@ 0.1 @ 0.2 Y @ N @
© 04 @ 10° o s B
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h'd

If the power of an engine at any time t Glie § o) gl s AT38 2518713)
measured in seconds equals 5308 a3 (HET ) 6ol LWL

(9t? + 4t) energy unit, then the work done AR . \
by this engine during the 3" second IS AV e Jodadl Ja2)) 08
equals ...... work unit. 5 By e 9l AIWT A5

® » ® # A QO w0
© 67 @ 99 SO w®
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A force acts on a body at rest of mass oS L ez e o @
50 kg. to acquire it a uniform acceleration | 4= S B (’"'{ 0- als
0.7 m/sec? . If the work done by this force | S+ 08 138 . "&/p-,V delazs

is equal to 350 kg.wt.m., Soles 358l oda dlaulyy Joddll

\ . g o) V>5 S voe.
find the distance which the body moves. el WS 55 N Bl ol
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A Zeppelin moves under the action of daglie L0 cod slaie S
resistance proportional with the square <o\S 1316 caze p g g el
of the velocity of the Zeppelin .If the loses V"S W A Jolas deslid!

resistance equals 800 kg.wt. when its
velocity equals 20 km/h and the power
of the Zeppelin was 200 horses when it

Sy /Q.S Vo we oo
bae Obas Yoo sladl 3,03

moves with its maximum velocity , 0de s glb d de (Bl oy
find this velocity in km/h. o (S B de )
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Answer one of the following items :
(a) A body of mass 200 gm. is let to move

from rest from the top of a smooth plane
of length 25 m inclined to the horizontal
at an angle of sine 1—10 Find the velocity

of this body when it reached the base of
the plane.

(b) A man of mass 72 kg. ascends an

inclined road inclined to the horizontal

: .1
with an angle of sine p to cover 120 m

find the change in the potential energy
of the man.

(A o ¥ 1 22000 (ool dolat ! 4y g3 L Ayt alad | Balgds Hlial

o oo oo

b GG (o5 5300 i Ge ol
e o o S ]
s Ll 6 ste B 0 ) S
L5l B e aor 51520 VO
\AMV.QJ\ \MA.C«J.« J.>-_9T
S5l BB I Ly
\j&\qar?«fvvdﬂ:f&)ﬂﬁ—g
el AV e o B b
P VY adaid Vs
| 2 dw : .\eu..
.J;_-Jj\cajda\lagejgﬁ\

v/ U.JLIJI JoaJl - d=alpoldulinl) A A auj



YOWV/YNT Gyl alal| - AL gt (A o W1 A0 ASClabicatd = Zolal | 2y gt Al yutd ! AL Balgeds (slowial

v/ U.JLJJI JoaJl - d=alpoldulinl) A A auj



YAV/YNT at ya alalf — L) gt (Ao ¥ 2200 ICoolisad)— Zolal) A g3l Zaul il AL | 33Lgs ()lomiie!

v

If a body is projected upwards an inclined | G5 el J) (e BAS 13
plane with a certain velocity and in a s L 3y dime 45y Bl
st'ralght line .If the alge'bral.c measure of the o )3 g dl el s
displacement is determine in meter by the F
relation : s =20 + 8t — t? such that (t) )
1s measured in second, then the maximum 2 OB AUl dulie () Lo
distance it will reach equals ..... meter 5 G 9ln 4] Ly A

@ 36 ® 20 v @ o (D
© 8 @ 4 ¢ NS
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If v(t) = %cos (%), s(m?) =1, (%) L % = () & w8 13
then s(t)=............. V= (") o <Oy
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b

A small metal sphere of mass 0.2 kg is *, VS 8y A5uas 3, o
moving in a straight line under the action PO IS o s B ("’S
of a single force (F) newtop .a‘F time aslll Kis 590 (19) Sdamsg b3
t sec., the displacement s is given by Sl L O 436 o Ay
s = (3sin 2t ) meter. e (O F > 7) = O a5 asnd]
Find the magnitude of F when t = % ST 2yl 49 Hlas dssl
1
11
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w

If a bullet of mass 1 kg. is fired with
velocity 720 km/h towards a tank of mass
50 ton moving towards it with velocity

20 m/sec, then the magnitude of the
momentum of the bullet relative to the tank

2SS Al il 13
WS &> 523 /S VY s e
i ey gl g oS L o-
Ay )8 AaS ks B &/p ¥ -

2 g oA Bl
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w

If a body moves in a straight line with (s e s 18
uniform velocity under the action of two o) 56 s Al de e
forces o il
fi =2al—3] + 4k, T, E e T
e WA e b - L WP
f, =61+ bj —ck , then g Bt
A+D+Cm e e —a o ol

13
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If a body of mass 70 kg. is placed on s V’S Ve ks e g2 13
a pressure scale fixed in the floor of a dnan 4o )| e ¢ 25 dans )l s

lift moving with a uniform acceleration Y A

] NTE \,¢ delaie Ao 8 >
1.4 m/sec? upwards , then the reading of S u/r ST
the scale equals ........... kg.wt. g”5 S e 59l O el 3613 018

@ 60 b 70 @ Q)
© 80 @ 784 VA, () A B
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A body of mass 4 kg is placed on a smooth | S5 J& g 5290 V’S £ kS (-
inclined plane inclined to the horizontal Ll 2 5l 30 BN Jo oo el 5L
with an angle of measure 30°, A force of \
magnitude 29.6 newton acts on it in the ; .
direction of the plane upwards. Find the 7 g gl oled! &
magnitude of the velocity of the body after | i Ol5 V da gl &6 jlaie dog)
7sec from the beginning of the motion .If o bsdl J:f\s sl 13 ¢3S 01 ol
the act of the force is stopped at the end of | .. L SR N
this time interval, find thIe)pdistance covered Bl b Al 301 ode S0
by the body on the plane after that before it | ** S gll Je r’.J‘ S S
reverse the direction of its motion. S o olol uSa ol 18 I3

RA L AVSTRVIS S PUPSCHE L &
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A rough inclined plane of length 250 ¢m o Yor dsb 2 Bl s

and height 150 cm, If a body is placed P e e w2y a0 acld )l
on it at rest to slide downwards the plane Jaud JI 2 FB6 O S D>
when the acceleration of motion equals S3led 482 dlme 385 (4 sl

196 cm/sec?, find the coefficient of the | S Jolas dom sl "o/ 147
kinetic friction ,then find the velocity of the | if s el 45 e 5| o (S
body after covering 200 cm on the plane. Syl (o ¥ . —
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If a force of magnitude 20 newton acts 5 Pes Yo e laie 398 &35

on a body at rest of mass 2 kg. for 5 sec 0 Bu) V’S voaks Su o
. ,then the velocity of the body at the end of | Ll V’“"’J\ i SOV S

this time interval equals ......... m/sec. o 6515 e 5,28

@ 10 ® 40 . @ v O
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Answer one of the following items : § G (305 pBa ] e i
(a) Abody of mass 210 gm and a spring ’\’jué by Ll 3,5 s L o
scale 35 gm are connected by the end A Y.
4 . JJM\U% .V\~4J.\2§\a“>.-4.:3}
of a string passing over a smooth pulley. s d
A body of mass 105 gm is hanged on | Gk > 70 S (5,5 Ul 5V
the spring scale. If the system is let to oS s 136 oz Voo ks - 4

move frpm rest, ﬁnd in kg.wt. The (‘)?J‘&iif*?ﬁ 555l 5n i gl

tension in the string and the reading of e R\ &

the scale. .Q\}:J\ oo\)sj Jo.o;j\geu\
(b) A body of mass 600 gm . is placed A o ¢ gz e S e o

on a smooth horizontal table and is S e dasy by e il 6@\

.connected by a string whose other end ol Bl ks Briey e 3,50
is connected by a pan of mass 100 gm | . LR
. and a mass of magnitude 50 gm is i disi id AN R
placed on the pan .If the string passes | 45 sy o\ Ry
over a smooth pulley at the edge of the | 1, 50 95 sl o0 PSRES

table, find each of the pressure on the o .
9 d&g . \ ‘
axis of the pulley and the pressure on o Ldlly 58N ) o

the pan in gm. wt. L2 Ja 1l

18

v/ U.JLIJI JoaJl - d=alpoldulinl) A A auj



YAV/YNT at ya alalf — L) gt (o ¥ 20 (SCoLidold | olall s g3 L Ayl ALa3 | B3Lgs (olowie!

19

v/ U.JLJJI JoaJl - d=alpoldulinl) A A auj



YAV/YAY Gl plal | - AL 900 (A oy ¥ 1 22000 (Siobioad | = Folal 2y g3t il yutdf ala! B3lgs (ylowia

U

A ball of mass 100 gm is moving on a b@ﬂﬁﬁ\waj
straight line with velocity 3 m/sec to 3,5 e &/ o s ey s

collide with another ball at rest of mass o Voo eSS
200 gm .If the first ball rests directly after | o3 V-L gt iy
collision ,then the velocity of the second ¥ S R

ball directly after collision pabadl an AW 3, ey
equals ........ m/sec. u/f ......... = 3,5\

@ 1 ® 1.5 e @ O
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A rubber ball of mass 20 gm . fell down =V kS Jolall 1y 8,8 o
from a height of 6.4 m_eter above the N d“ b e 8 EEl e
ground to rebound vertically upwards. If the
average force which the ground exerts on ,
the ball is 182 x 10* dynes and the contact | &5V s 2)¥) Wis A1 558
time of the ball with the ground
15 0.02 sec .

Lasgze 98136 (MY Ll y )

o ) A5 cpls TVe XOAAY

Find : :J".'JB A e, ¥ u@m’ BJQ\
(i) The magnitude of the impulse of the EF U g2 e (i)
ground to the ball. 5,501 ad) oy £ i) a3 (i)

(i1) The maximum height the ball reaches

. RTINS
after it rebounds. W)
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